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(2)RBX
10 REMS.N. CHU 1983/3

20 HOME

30 POKE — 16296, 0 : POKE — 16294 , 0 : POKE — 16290, 0
40 A=PDL(0): B=PDL(1)

5 C=PDL(2):D=PDL(3)

60 IF A=0 THEN 100

70 IF B<1 THEN 140

80 IF C>30 THEN 180

90 IF D=0 THEN 220

95 GOTO 30

100 POKE—16291 , 0

110 VTABI2 : PRINT “POOR 1111 <Y>OFF”

120 GET A$: IF A$=“Y” THEN 130 : GOTO 120

130 POKE—-1622,0

135 GOTO 20

140 POKE 16289 , 0

150 VTAB12 : PRINT“FIRE DISASTER 111 <Y> OFF”
160 GET B$: IF BS=“Y” THEN 170 : GOTO 160
170 POKE —16290, 0

175 GOTO 20

180 POKE—16291, 0

190 VTAB 12 : PRINT “A VERANDAH 111 <Y> OFF "
200 GET C$: IF C$=“Y” THEN 210 : GOTO 200

210 POKE—16292, 0

215 GOTO 20

220 POKE-16291 , 0

230 VTAB12 : PRINT “WINDOW 111<Y>OFF”

240 GET C§: IF D$“Y” THEN 250 : GOTO 240

250 POKE—16292, 0

260 GOTO 20 237
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@K :

0
10
15
20
25
30

35
40
45
50

60

90
100

110
120

122
123

125

REM BY S.N.CHU 1982/8

ONERR GOTO 5000

SPEED=255

C=—16289 : 0=—16290 : S=— 16336

POKE 0,0 |

TEXT : HOME : PRINT  “ cevneineiiniinieiiieee e e s e eene
............... " : INUERSE PRINT “ TELEPHONE DIALER "
5 o NORMAL : PRINT % ceeeeniiiiiii e e e "
POKE 34,6

PRINT “TELEPHONE SHOULD RE OFF HOOK ”

L=«

PRINT : INPUT “PHONE NUMBER OR NAME : ” ; PN§: IF
LEN (PN$)=0 THEN 50

PH$=LEFTS (PN$,1): IF [ASC CPH$J <48 OR ASC
(PH$ ) >5>3 AND ASC (PH$) < > 46 THEN 2000
PRINT

W=PEEK (37):UTAB 2: INUERSE : PRINT L$: UTAB 2
:PRINT “DIALING: " LEFTS (PNS, LEN (PN$J #
C LEN (PN$) < 29)+( LEN (PN$) > 287 x28))
:UTAB W+ 1 : NORMAL

FOR LL=1 TO LEN ({PN$)

N=ASC C MID§ [PN$,LL,1))—48:1F N=0 THEN

N=10

IF N=-3 THEN 200

IF N=—16 THEN PRINT:FOR W= 1 TO 2000 : NEXT :
GOTO 200

IF N=-2 THEN POKE C,0:FOR W=1 TO 250 : NEXT
:POKE O, 0:FOR W=1 TO 1750 : NEXT : GOTO 200
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126
127
130
140
145
150
155
160
165

185
190
195
200
250
300
310

320

330
340

350

360
2000

IF N < 1 OR N> 10 THEN 310
REM —3="—> —16=" > —2=>_°

PRINT N * (N < > 10);* 7

FOR L=1 TO N

PRINT “«”;:W= PEEK (S) + PEEK (S)

POKE C, 0

FOR W=1 TO 25: NEXT

POKE 0,0

FOR W=1 TO 35: NEXT

NEXT L

HTAB 13 : PRINT “: "

FOR W=1 TO 150 : NEXT

IF N=1 AND LL=1 THEN FOR W=1 TO 3000 : NEXT
NEXT LL

TEXT : END

REM ERRORS IN PH #

PRINT “ERROR—";: INVERSE : PRINT MID$ (PNS,
LL,17; : NORMAL : HTAB 13 : PRINT “:”;

FOR W=1T0 10: W= PEEK (—16336 )+ PEEK
(—16336) +PEEK [ —16336)+ PEEK [ —163360 ) *
0+W: NEXT : REM ALERT

PRINT “CANCEL? (Y/N)”;

GET W$: IF WS="Y”THEN PRINT : PRINT : HTAB 15 :
PRINT “CA NCELING CALL”:POKE C,0:FOR W=1
TO 750 : NEXT : POKE 0, 0:FOR W=1 TO 1750 : NEXT
: RUN |

IF WS=“N" THEN HTAB 16: CALL — 868 : PRINT

“ | GNORED ” : GOTO 200

GOTO 340

RESTORE : FL=0
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2010 READ NAS,NBS : IF NAS=*END ” AND NB$=*END”
THEN 2100

2020 IF LEFTS [NA§, LEN [PNS$)J=PN§ THEN 2200

2030 IF PH$=“2" THEN 2300

2040 GOTO 2010

2100 PRINT:HTAB 5: IF FL=0 THEN PRINT PN$;“ 1S
NOT IN THE FILE " :PRINT : GOTO 50

2120 PRINT “NO MORE “PN§”,S IN F ILE”PRINT: GOTO
50

2000 PRINT : PRINT NA$ SPC( 5INB $:PRINT “DO YOU
WANT THIS 2 (Y/N)”; : GET WS

210 IF W§==Y " THEN PN$=NBS : PRINT : PRINT : GOTO
100 |

2220 IF WS=“N" THEN FL=1: PRINT : PRINT : GOTO
2010

240 GET W§: GOTO 2210

2099 REM 2 —FULL SEARCH

2300 IF LEN (PN§) > 1 THEN PIS=RIGHTS (PN$,
LEN (PN$)—17:GOTO 2320

2310 PI§=“"

2320 FOR W= 1 TO LEN (NA$)J-LEN (P1$)+1

2340 IF MIDS (NAS,W, LEN (PI$)J=PI§ THEN W=
LEN {NA$J—LEN{PIS§ )1 : NEXT: GOTO 2200

2350 NEXT : GOTO 2010 |

5000 REM ONERR GOTO ------

5020 TEXT : NORMAL : POKE 0, 0

5050  END

6000 DATA  FIRE,119A, POLICE , 110B

6010 DATA TIME,117C

6020 DATA WEATHER, 166D

6030 DATA END,END _
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REM AUTO 1983/3 S.N.CH
TEXT : HOME : ONERRGOTO5

POKE - 16296 , 0 : POKE —16294 , 0 : POKE—16292, O:
POKE - 16290, 0

PRINT “(1)=A":PRINT “(2)=B'"PRINT:(3)=
C” :PRINT“(43)=D":PRINT

PRINT“1=10/ 10=1" : PRINT

INPUT“<1>"; E$ : INPUT“ 7 F

|FE$=CHR$ (65 ) THEN LETE=16295
IFE$=CHR$ (66 ) THEN LETE=16293

| FE§=CHRS$ ( 67 ) THEN LETE =16291

IFE$=CHR$ ( 68 ) THEN LETE =16289

IFE$ > CHR$ (68 J ORE$ < CHRS ( 65 ) THEN 40

INPUT “<c2>7; 6§ : INPUT“ 7 ;H

|FGS=CHRS (65 JTEIEN LETG=16295

IFGS=CHR$ (66 ) THEN LETG=16293

IFG=CHRS (67 ) THEN LETG=1629]

IFGS=CHR$ (68 ) THEN LETG=16289

IFG$>CHRS (687 ORGS < CH P.$(65) THEN 60

INPOT “<< 0> ; WS ; INPUTu”; X

IF W$=CHR$ (65) THEN LETW-=16295

IF WS=CHR$ (66 ) THEN LETW= 16293

IF W$=CHRS [ 67 ) THEN LETW=1629]

IF WS=CHR$ (68 ) THEN LETW= 16289

IF W$ > CHR$ (68 ) ORWS < CHR$ [ 65 ) THEN 220
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230
231
232
233
234

240
245
250
260
270
280
290
300
310
320

610

630
640

700
710
720

HOME

VTAB 12

PRIVT “RVN”

PRINT ; PRINT : PRINT

FLASH: HTAB 15: PRINT “BYS,H,CHU " ; NORMAL
POKE — 16304 ,0 : POKE —16297 , 0 : POKE—46302 ,0:
POKE —16299 , 0

REM BY S,N,CHU

PRINT (BE'L'L")

POKE - E ,0

FORX=0 TO 50*F

NEXTX

POKE — 16296 , 0 POKE— 16294 , 0 : POKE 162
POKE — GO

FORX =0T050  H

NEXT X

POKE — 16296 , 0 : POKE — 1694, 0 : POKE —16292 , 0 : POKE —
16290, 0

POKE-W, 0
FORX=0TO 50 *X
NEXT X
POKE — 16296 , 0 : POKE — 16294 , 0 : POKE — 16292, 0 : POKE —
16290,0
GOTO 235
REMS,N, CHU(CI(P)
REM EGG COMPUTER CO,LTD.
REM
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iRt A -

0
5
10
11
12
13

REM BY S.N.CHU 1983/2
DIM A(12),B(12),C(12),

TEXT : HOME

FOR Q=1 T0 12
A(Q)=0:B(0Q)=0
NEXT

FOR Q=1 TO 12
PRINT “MONTH " ; @
C@Q)=0

INPUT “ A="; A(Q)
IFA(Q)>105 THEN2 ; IFA(Q)=0 THEN31

B(Q)=AQ)
NEXT
FOR L=1 T0 12

A(L):24+iNT(((QOWA(L))/IO*IG)

NEXT : HOME : HGR?

HCOLOR = 3

HPLOT 16,8 TO 16,168 TO 190,168

FOR Z=168 TO 8 STEP—1g

HPLOT 190, Z TO 18,7

NEXT

FOR W=16 TO 192 STEP 16

HPLOT W,8 TOW, 168

NEXT

HPLOT 16, A(1) T032,A(2)T048,A(3)

HPLOT 48,A(B)T064,A(4)1080,A(S)TO%A(G)TO}IZ,A(7)
T0128,A(8)T0144,A(Q)T0160,A(lO)TOI?G,A(ll)TO],SZ,
A(12) |

GET AS

IF A$=“Y " THEN150
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TEXT : HOME: VTAB12 : PRINT “ ENDOFDAT A~

END

TEXT : HOME : HGR2

HCOLOR =3

HPLOT 16,87016,168 TO 201, 168
HPLOT 201,8 TO 201,168

=168 T08 STEP-16

HPLOT 201,11 T0 18, !

NEXT

FOR 1=16 TO 192 STEP 16
HPLOT 1,164 TO 1,168

NEXT
FOR L=1 TO12
B(L) ~24+ INT (((90-B(L)) /10)=16)

GOSUB 240

NEXT

GETA$
[FA$=“Y " THEN9

TEXT : HOME : VTAB12 : PRINT : END OF DATA”

END
FOR D=B(L) TO 168

HPLOT16+ 16 % (C(L)—1) ,D TO16+ (16 (C(L)-1)+8),D

NEXT

RETURN

REM BYS,N,CHU 1983/3

REM SGG COMPUTER CO,LTD
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